SHY RIKENF1E

SHY

SEIFIE

¥ EMC”

ITEE . YRS E F 15, 6112 0025, M A, EERPAH S A:SHY25-S

O MK
112 (mm) 10 16 20 25
FHIERRK SFhAY R
THENR (ZR)£240 p mRL LRI IE
g »10 0.15~0.7MPa(22~1 OOps.i)(1 .5~7.0bar)
EREA D16~ 25 0.1~0.7MPa(15~100psi)(1.0~7.0bar)
SEE sy |_010 0.3~0.7MPa(45~100psi)(3.0~7.0bar)
d16~D25 0.25~0.7MPa(36~100psi)(2.5~7.0bar)
TIERET —-20~70(FEE k)
43 AEE
= 18 RS 180(C.P.M)
EEORZ M3X0.5 M5X0.8
FRER (g) 42 94 | 174 303
O ITERZEH O it
1. RFARFEEN EHFNEKX;
RIRH BAREH iiE - RERB 2. AT L, S U o 4
. BEHEMRBAE LRERAERERE
SHY:YEISzFi5 =H: BEAE 10 S : Mit#k
SA: BHEFE 16 (BRI Mt 2) A4 KSR EALAS B, e IR TR E A R AT &
20
25 5.5MAXMRESR FERRGHENER;

6.FTE BRI A E TS,

O EEHHF

B

/ HX-29| . @7 REEEZRE S EEAHX-29% 5l it F %
HX-07

O BgRFFNE

&

%m,ﬁ’*mmm)
_ i 3% 7356 (N om) BARBUSAKE g
ez e - WFRE | HeRE
e THENE WIF Jeis 156 (L)(mm) -
SHY10 17.6XP 29.4XP 30
_ SHY16 90XP 129XP 40
EmE SHY20 152XP 252XP 60
SHY25 304XP 473XP 70 307 1029
s 3
SHYSA10 11.8XP 30
= s 1y SHYSA16 71.2XP - 40
RHEFE SHYSA20 122.4XP - 60
SHYSA25 252XP. — 70

S EIRRE R RIFDERH PREEFEMASE, PUBAL: WPa

3.69

“ www.emc-machinery.com



SHY RIISKHF:

i}

§ E-MC

6 78 910 1" 12 13
%777

[[[TA ] !
AN S 2|

®16~025

FE | E4aR R FS EHER R
1 )=F-3 K 12 | IAREERET i
2 CHRFLA HER 13 | % TEW
3 ORIIR NBR 14 | TEW
4 | EE wag R 15 | = BN
5 EETHE NBR 16 | fIf HBEE
6 | mE% B2 17| Bk TEW
7 | EEM i 18 | ORIER NBR
8 ORIIF NBR 19 | ZEpigee iR
9 | BitER PTEE 20 | OB NBR

10 | AAREELEST N 21 | ZEHETEIRL #if
11 | BrE=pyAE TPU/NBR(®25)| 22 | Nfigs o]

E
D A1
Al mASIL
D HAESH
— > —
el == | S oo J==_— -

o —©

Q |#Fan ® f ‘

Q

N N 1l

10 WASIL
D16~D25

RIS A Al B B1 C C1 D DD D1 D2 E EE
SHY10 23 M3X0.5 | 38.6 | M3X0.5i%6 35.8 M2.5X0.45 14.2 17.2 | MB3X0.5i%6 M3XO0.5%6 52.8 14
SHY16 30.6 M5X0.8 | 44.6 | M4X0.7i®5.5 | 39.7 M3X0.5 18.9 23.6 | M4X0.7#%9.5 M4XO0.7#8 63.5 24
SHY20 42 M5X0.8 | 55.2 | M5X0.8iR8 49.7 M4X0.7 23.5 29 M5X0.8%%11.5 | M5X0.8i%10 | 78.7 30
SHY25 52 M5X0.8 | 60.4 | M6X1.0iR10 54.8 M5X0.8 32.8 38.5 | M6X1.0#14.5 | M6X1.0812 | 93.2 36
HEZ/HS F G H | J K M N (0] B Q R ) T X Y z
SHY10 4 30° 23 18 [ 12 | 16.4 125 [ 114 | 27 10 6.5 | 18.8 | 10° 16 | 7.4 3 5.7
SHY16 7 30° | 245 |22 | 15 | 23.6 16.5 16 30 13 6.5 | 18.3 | 10° 24 10 4 7
SHY20 8 30° 29 32 |18 | 27.6 20.5 | 18.6 | 35 15 7 22.2 | 10° 30 12 5.2 9
SHY25 10 30° 30 40 | 22 | 33.6 275 | 22 3651195 | 74 | 235 | 10° 36 12 8 12

www.emc-machinery.com

3.70



SHY RIIKEHF:

i}

1, BRZBERAMEBENRTH, SREXFABRLRIHET 2, ABRGEAEIHRREE,

DIMERETRE;
2. FEELKRINRAENERTERSHFIE;
3. REREESHFIEMTIBRAEEEE. MERRG;
4, EEERNEMGH, BRERERT;
5. SHYSEFHEAUT MR ER %, BREBLYPRENELRETRAENAETEALN, AXE

SIBERAR, KSERMERESEE,

6. RIMEMHREME:

R RME R ERER,
BRAARAEFHRRL,

SRHRIEL, FNAESRIFEBME,

AR AFORFRMERI,
VAT EZERELEER

Lo Ea7LA
L) LJ FREEM
e | AR | BxoE | eessxws | BEan | BRI s =R BAHE 178 PITON
2 | mis % (Nm) | ®E (mm) | 7% (mm) | 7% (mm) = s % (Nm) RE (mm)
10 | M3X0.5 0.88 6 ®11H9 1.5 10 M3X0.5 0.69 5
16 | M4X0.7 2.1 8 $17H9 1.5 16 M4X0.7 2.1 8
20 | M5X0.8 43 10 ®21H9 1.5 20 M5X0.8 4.3 10
25 | M6X1.0 7.3 12 & 26H9 1.5 25 M6X1.0 73 12
FHEBFLRE ME ==
1
- e =
|/
A |
o o =
. E Rk oA SR BB AMEN - EREE BoAHHE 373 PRIN
- i %6 (Nm) RE (mm) i % (Nm) RE (mm)
10 M2.5X0.45 0.49 5 10 3X0.5 0.88 6
16 M3X0.5 0.88 8 16 4X0.7 1.6 6.5
20 M4X0.7 2.1 10 20 5X0.8 33 8
25 M5X0.8 43 12 25 6X1.0 59 10

7. XBMIHM, THLRCTFANPOLELE, BRTNERMZEMIHE,
FNAESHIRRIT;
8. WINZLHSMMAMZ FRINE, EEHFEERAFRN L, FEhEHE
BEER, EMRMENRIRT . REEBRESHFEETERKR
HaliiE B T4 R B
9. THIMANER, POKuMEH, RAFED, RN E=EHH
e WER, BAREFHHNERERENURBEZZE, BIA
Z2AREES;
10, FIEERSFAERNFARESZ REDR;
M ARTHNSHFENBHBEZR LATTHEN @;

12, MTSHFEN, ERAREFIHERET,

ERRE BAE
fice ik 4 (Nm)
10 M2.5X0.45 0.31
16 M3X0.5 0.59
20 M4X0.7 14
25 M5X0.8 2.8

3.71

BEE=SHBEFTR T,

www.emc-machinery.com






